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1. Developing an organization’s structure may include creating rules and regulations, giving some members supervisory control over other members, or _____.
a. forming work teams

b. writing job descriptions

c. creating viable pay and benefits

d. both a and b

(d; Challenging; p. 4)

2.
Operatives can best be described as

a.
those who actually perform the service or produce the product.

b.
those who work anonymously behind the scenes.

c.
those who set the goals of the organization.

d.
those who supervise others.

(a; Moderate; p. 4)

3. Which wave of modern civilization transformed society from a manufacturing focus to a focus on service?

a.
agriculture

b.
industrialization

c.
manufacturing

d.
information

(d; Moderate; p. 45)

4.
Computer programmers, software designers, and systems analysts are commonly referred to as


a.
service workers.


b.
the first wave.


c.
industrial workers.


d.
information technologists.

(d; Moderate; p. 51)

5. Which of the following is not a reason for planning?

a.
provides direction

b.
reduces the impact of change

c.
maximizes waste and redundancy

d.
sets standards to facilitate control

(c; Easy; p. 78)
6.
Which of the following is an argument against formal planning?


a.
Planning focuses on the future.


b.
Planning may create rigidity.


c.
Planning replaces creativity.


d.
Planning ignores prior successes.

(b; Moderate; p. 79)

7.  _____ is the discrepancy between an existing and a desired state of affairs.

a.
A process

b.
A problem

c.
A scenario

d.
A criterion

(b; Easy; p. 106)
8. .
Once a manager has identified a problem, the _____ that will be important in solving the problem must be identified.

a.
discrepancies

b.
decision criteria

c.
scenarios

d.
factor weights

(b; Moderate; p. 107)

9.   Which of the following is not one of the six elements of structure?

a.
work specialization

b.
chain of command

c.
span of control

d.
technology

(d; Moderate; p. 142)
10.
A component of organization structure that involves having each discrete step of a job done by a different individual rather than having one individual do the whole job is known as


a.
work specialization.

b.
chain of command.

c.
span of control.

d.
departmentalization.

(a; Easy; p. 142)

11.   Which of the following most dramatically impacts the employment process?

a.
internal environment

b.
external environment

c.
culture

d.
technology

(b; Moderate; p. 170)

12
_____ is the process by which management ensures that it has the right personnel, who are capable of completing those tasks that will help the organization achieve its objectives.

a.
Human resource management

b.
Human resource inventory report

c.
Personnel management

d.
Employment planning

(d; Moderate; p. 173)

13.  Managers can change technology, structure, or people. Which of the following is a change in technology?


a.
job redesign


b.
equipment


c.
perceptions


d.
authority relationships

(b; Moderate; p. 204; Ex. 7(1)

14.
Managers have three options for change: structure, technology, and people. Which of the following is not a change in people?


a.
attitudes


b.
expectations


c.
spans of control


d.
behavior

(c; Moderate; p. 204; Ex. 7(1)
15. When topics such as attitudes, personality, perceptions, learning, and motivation are considered, organizational behavior is looking at which of the following?

a.
group behavior

b.
individual behavior

c.
stress management

d.
creativity

(b; Easy; p. 227)
16.
When topics such as norms, roles, team building, and conflict are considered, organizational behavior is looking at which of the following?

a.
group behavior

b.
individual behavior

c.
stress management

d.
creativity

(a; Easy; p. 228)

17.  The stage in group development when members are determining what behaviors are acceptable and when a great amount of uncertainty occurs is

a.
storming.

b.
forming.

c.
adjourning.

d.
performing.

(b; Moderate; p. 258)
18.
Which stage in team development is characterized by conflict over leadership and the controls that the group places on individuals?

a.
storming

b.
forming

c.
adjourning

d.
performing

(a; Moderate; p. 258)

19. _____ is an internal state that makes certain outcomes appear attractive.

a.
Team work

b.
Motivation

c.
A need

d.
Theory X

(c; Moderate; p. 280)
20.
The greater the tension level of the motivated employee, the _____ the effort level.

a.
lower

b.
higher

c.
same

d.
there is no relationship

(b; Moderate; p. 280)

